Exam.Code:0307
Sub. Code: 2657
2031
M.A (Economics) First Semester
MAECO-102: Macro Economics — |
(In all mediums)

Time allowed: 3 Hours Max. Marks: 80

NOTE: Attempt five questions in all, including Question No. I which is compulsory and
selecting one question from each Unit.
X-X-X

L. Answer any ten of the following:-
a) Under employment equilibrium
b) Open economy model
c) Laissez faire
d) Supply curve of labor
e) Cyclic consumption function
f) APS and MPS
g) Ratchet effect
h) Consumption puzzle
i) Induced Vs. Autonomous investment
j)  Flexible accelerators
k) Fixed adjustment cost
) Money multiplier
m) Fisher’s exchange equation
n) Components of money supply

0) Speculative motive _ (10x2)

UNIT -1
II. Explain Keynesian model of income and employment determination. (15)

[1. Throw light on the controversy on wage-price flexibility and full employment. (15)

UNIT-11
IV.  Critically examine permanent income hypothesis of consumption function. (15)
V. Write note on:-
a) Random walk hypothesis
b) Consumption CAPM (2x7%)
UNIT - 111
VI.  Discuss fixed accelerator theory of investment. (15)
VII. Examine the role of investment using investment multiplier. (15)
UNIT -1V
VIII. What do you mean by credit creation? How do commercial banks create credit?
What are the limitations? (15)
IX.  Explain Friedman’s Restatement of Quantity Theory of Money. (15)
X-X-X

(Hindi and Punjabi versions enclosed)
P.T.O.
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